T A T R A R

S TR S A A R B i TR

10

(R BREEEOEE, HEIEE TR R
WA HTh, BRRSESLERTE Sh,
ik PI R s b B T, e

C OERMMES T AL oM, BEICOVTEERY D
5% :

3.2.8 ga TR SHEROSHEE

8 B 72}
1 A8 RENUEEEILE s o~ 2R
I SEROHER
PRIy B - IS0 SR Ui, BUE
SHLROE Y,

|
S~ s )
= |8
Ea i = o GBI & fr SR
A & A % HATH] %
14 %&l —_ — 0.7 — 50 —
& [EEEE 64 32.00 0 24.00 100 1670, 100
o st 33 e0.s|  33.0] 72.6 2660 88
=1 ggl — = 0 0 0 o
i #HmEOEZE

ORI RS LR Aol L8s bghi
P COEOEATERCERTAMLAEADLE
iéo !

10 R o% R M THIR BTV 5,
100~150 = 67 # £ 2 EoERRR CENEN OO, A7
156~200  » 132 BEENOTELES,
200250 & 02 ,
—250- # L
- COMMEE 2 YN0, ROSEHCEEERY T 3.0.7 BB S|ATERKOSWHER
i e
. - e (E—-8
fE R - AR S ®
fr B B
i HEimE | Ez2E
i AT TR ECHE OSBRI : UTEAaeiIbkic
' ST BE 4025 16% ")L\‘C’ﬁ“’)??:o
e TrEon 2y | BRA " T T TR LT B WL Fkie
et — s (B 17 1 - WTERIIC T 5 S & TH B E DUALHED
@fﬁv—-ﬁ g?ﬂﬁ . HRFNbRE T T A L, BoTAEE LA
FES T AR S i,
BE | b BE e TR TrE |» i
Ao & BREEAR G | DIy 'ﬁjﬁjjlﬁ;_@ﬁ ‘ % =7ﬁgﬁﬁl il B
| IS
* o # O 30. 2.28 87 7.0 74, 2.0 1.3 1.2 0.08 O.1 0.4 7.8 BB sk T
m B o5 J » 3.1 90 6.8 70 2.8 1.2 1.1 0.13 > 0.2 °.0 B B I
= il 2 3.1 130 6.8 1200 1.2 1.7 1.3 C.14 » 0.3 1.5 5 H 4%
#:Bor M # 3.2 100 6.8 150 2.4 1.6 1.1) 0.09 = 0.4 18.0] #7 o
H i » 223 81 6.9 1000 1.8 1.4 1.3 0.09] # 0.3 12.8 fm i H T
A @ N # 2,24 93 6.8 1500 1. 2.0 1.8 0.12] # 0.3 11.6| #: bt
= Bl 2 3.200 21 7.0, 350 2.8 2.2 1.6i 0.12) » 0.6 76.0| B & TH
= | # 3.21] 8850 6.9 4000) 10.2) 78.4; 54.7] 0Q.12] = G.8]  435.0 & i
E B # 3.211 112] 6.6 105 7.2 1.3 1.3 o.11 - 0.3 18.0 fH &H
£ I 0. 3.220 7| 6.9 1000 1.6 2.6 1.5{ 0.10 2 0.7 15.4 = e
w Jil(%ﬁffg) » 3.220 113 7.0 230 1.0 2.9 1.5? 013 # C.4|  10.4) 5 R
b Niss » 2.25 5400 6.8/ 1000 2.6 4.4 3.2 O.10 ~ 0.7 6.0 & & T

—— -

o




mooN & pwmean A e | M e KA | & TV Snen i e %
A8 D | a0.z.26 o2 75.9‘-. s 1.8 1.0 od o on o 11.6) ¥ A
& H N + 226 - 11| 6.8 105 - 1.0, 1.5 1.2} 0.09 = 0.3 12204 W
i P | s 227 M 6.8 110 1] nz 09 o0 s | 03 72 WEES
Bz » 221 11l 6.8 103 0.9 1.4 1.1 o2 - 0.2 1.6 s
Lok WA | » 221 el 7.0 100 o 1.9 12 o0 o | 02 ue .
B J » 2_; 135 6.9 85 1.1 1.4 0.9 o.11 » 0.2 9.6| B ey
< | # Azl 7 202 6.8 2600 1.2 2.6 L1 0.0 2 0.5 45 b
M O®. % # 2.7 110 6.8 95 2.2 1.7 1.8 0.11] = 0.3 2.8 »
G S # 2.8 153 6.9 --80 ° 1.4‘ 1.3 1.0] 0.1 » 0.2 s.6 M B K
4 H c2 2009 2400 6.9 90 1.0] 2.4 1.4 0.10 s 6.0 12.2 % A
BB » 2.9 182 7.0 74 .20 1.6{ 0.8 0.03 » 0.5 13.4 W B
B ﬁ@ + 3.6 408 7.0 1000] 2.2 5.4 3.9 0.12 2 0.7 154 F B 5
» T OEGE » 3.6 2400 6.8 190 2.0 2.1 LT 017 » 04 - 18.8 »
> B @R | » 3.6 140 6.9 30 1.8 3.5 3.0 0.10 - 0.4  23.4 -
gf"‘”]‘ # 3.8 231 6.9 240 1.1 2.7 2.4 0.12 - 0.4  20.8 ﬁ
# 7k G + 3.6 247 6.9 3200 1.0 49 4.6 0.10 - 0.5 16.2 »
A E Kk # 3. 6 80| 7.0 105 1.0 2.3 1.3 o0.10 - 0.3 975 B OB B
EE- T s 2,100 200 6.9 95 1.2. 2.4 0.95 0sl » | o3l 0.2 m ok oy
(I 1| > # 2,100 802 6.8' 1600 3.6{ 7.5 6.0, 0.13 » 0.8 350 [g] 7
H oo JI # 2,11 241 6.6‘ 550 1.1 2.3 l-Sl' 0.09 = 0.5 sl m oo i
e )H(%E%a) 7 2,11 70| 6.8 ;'52 0.8 0.8 o.si 0.10 & 0.2 12.8 # & M
A H O » 2,17 104 6.7 44 1.0 1.5 1.3 0.1 2 0.1 0.4 3 D ¥
oW » 2.7 2121 6.7 1000 1.1] 0.5 0.7 oO.11 - 0.4 25,8 »
B & ‘ # 2,18 168 6.8 230 5.20 1.8 1.6 0.09 = 0.4 122 B B 15
g omooJn | 2 218 191 6.8 58 1. o9 0.8 0.1 » 0.3 8.4 B
H R N # 2.19) 123 6.9 4 1.00 1.2 0.4 0.10, » 0.3  10.2 X% I
2 H i > 2.19] 145 6.8 950 1.4 1.1 1.0 0.10' # 0.3 8.4 2 H
I | » 2.20 1950 6.9 s 1.1 1.0 0.9 o.u:Ji . 02 o % 5
oo I sz W67 en 20 1. 03,04% s | 0.13 12:8 & % &

i) O Fpmm, &, vr==7, BB, 7w ~A 4+ iZppm
O RBIEEEE100c.clckf 5 N /100 KMnO, o isgiht (c-c)
O WEERI v A4 vHEE
O %ﬁﬁ%@éﬁmmMmmmrﬁLt
O Gk ‘ _
¥ HEAIREEN] BEIRBAEADE? v ~n 4t REEESE ot b D L b D,
H BIIEFRREA LTS,




